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£ R 40 8921955 119 102.6 17.5 2.31 22.4 103.8 75.0 26.2 1 9027 117.6 1
£ A 40 89221282 117 110.7 17.3 2.20 23.9 104.5 85.3 23.2 1 8267 107.7 3
¢ fny 40 5 117 104.8 16.6 2.72 24.2 119.3 80.5 25.1 1 7744 100.9 4
¢ fn 59 5L 119 106.6 16.2 2.43 23.2 107.0 78.5 24.7 1 7500 97.7 6
B zefhy 1119 50 119 112.0 16.7 2.50 23.6 114.3 78.5 24.6 1 6922 90.2 7
% 2405 1153 52 116 107.2 17.3 2.32 21.6 94.8 83.0 25.9 1 8400 109.4 2
4 ¢ 4410 5L(CKD) 117 106.6 17.0 2.51 23.8 118.3 79.3 24.7 1 7678 100.0 5
3 B4 14 5.(CK2) 119 107.4 18.7 2.11 21.6 88.5 80.8 26.5 1 6178 80.5 8
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AR T EL 19 977 17.7 2.80 19.6 108.0 86.3 27.9 1 8678  90.6
¢ 4R 30 5L 119 106.3 18.9 2.24 23.7 116.5 76.5 22.4 1 8961  93.5
BT 911 5L 119 115.2 16.4 2.79 23.9 115.5 90.8 24.8 1 9178 95.8
F ¢ fuff 15L(CK3) 117 98.6 17.0 2.58 19.4 95,3 88.0 28.1 1 9583 100.0
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£ A 407 892195 5L 97 105.9 13.6 2.10 22.8 114.8 59.3 25.7 1 5139 92.5 7
B4y 892212 5L 96 110.4 15.2 1.95 24.4 95.5 72.8 23.9 1 5228 94.1 6
¢4y 40 5 93 95.2 16.2 1.90 22.4 830 740 255 1 5056 91.0 8
¢ fh% 59 5L 93 98.9 13.7 2.17 23.5 93.5 74.8 26.0 1 5278 95.0 5
Bafny 1119 5L 93 105.5 14.5 2.23 23.2 87.8 8.8 26.6 1 6306 113.5 1
% zefh5 1153 5L 93 105.2 13.7 2.29 22.6 89.0 81.0 27.0 1 5750 103.5 2
4 ¢ 4410 5L(CKD) 93 101.5 13.7 2.27 24.5 103.3 75.5 25.7 1 5556 100.0 3
3 B4 14 5(CK2) 97 107.7 14.8 1.87 22.2 94.0 65.3 26.6 1 5361 96.5 4
AT TEL 93 105.0 15.2 1.82 21.8 82.0 78.8 25.2 1 5778 130.0 2
¢ fdE S 30 5L 93 100.6 14.5 2.03 19.8 83.8 74.8 28.8 1 4839 108.9 3
By 911 8L 93 107.8 15.0 2.01 22.6 83.5 85.3 25.4 1 6278 141.3 1
3 ¢ 4% 1 52(CK3) 93 96.8 16.1 1.96 20.1 84.0 74.0 28.3 1 4444 100.0 4
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